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· The problem: 
· The sum of four consecutive 3-digit numbers is 866. What are the four numbers? 
· (“Math Makes Sense 6”, Pearson, 2006, p. 63)

The Model:
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Add found information to the model
Continue to revise the model

First number

‘Second suanber - 1 =216 a
s [T28]. 11, =217
Fonath Nunber -L.ﬂw

o)+ (152)+(1+3)-866 Translate the modeltext into an algebraic equation

Solve equations.
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Add found information to the model
Continue to revise the model

First aumber
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Fourth Number -L.ma

o)+ (152)+(1+3)-866 Translate the modelltext into an algebraic equation

e Solution:
“The four 3 digit consecutive
4n+6.8-866-6
" numbers whose sum is 866
4n =860 Solve equations are: 215, 216, 217, 218
n=860/4 Solution check:

n=215 215+216+217+4218=866
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